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PBL 0.05+0.05 Uterus (myo) 62+6
Spleen 0.06+0.04' Prostate 67+3
Salivary gland 1.2+0.4 Spinal cord 71x10*
Thymus 1.8+0.1° Thyroid 136+7
Pancreas 3.9+1.3 6.2+1.6 17+£0.4 Ovary 0.5+0.02 16+1 46+2° 15117
Testis 13+1.3 Lung 30+1 31+0.3 3442 363 374 50+3 16543
Uterus (endo) 14+3.6 Stomach 167+4
Brain 17+2 Trachea 190+18°
Liver 1.9+0.2 5.9+0.3 12+0.7 22+2 27+2 | Kidney 10+1 20+1 246+14
Lymph node 4.1+0.5 2243 43+2 49+4 667 776 | Colon 97+18 125+97 226423
Surrenale 33+2 Small intestine 29+2 149+14 634441
Heart 47+3 Breast 57+£3 294421 326+10  447+10 1094+14
Bladder 49+6 Skin 140+18 162+7 326+19 444432 748+26 1233+72
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Fibroblasts




